1000/cdo)/dm [1/GeV]

MC /Data

10

e =
G R &GN

o

Pruned AK7 dijets, (p} + p3)/2 = 600-800 GeV

=T 177 ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ [
— —+— Data b
——— —+— Analysis_Alaric_ noNP_ISs
—— —+— Analysis_Alaric_ISscale$ta
= —_—— —+— Analysis_Alaric ISASFAC
—— =T=—%— o Analysis_Alaric UE_KFsar
o S ., ]
— e B
L |:|:|:| |
L == |
L
S S T A T .—
%I —
:l | o oL + - ° + ° ° ° ° ° Py o
- A4 b A g = = hd T I,_Y_|I T ‘I' I ‘|’ T h g B
= RN ==t
= T ‘ T ‘ T ‘ T ‘ T T ‘ T ‘ | .
0 20 40 60 80 100 120 140

m [GeV]



